



# Agenda Item Executive Summary

Item Name                      2021 Various Streets Resurfacing Project                      Committee or Board                      Board

## BUDGET IMPACT

Amount:	\$1,394,309.34	Budgeted	\$1,810,500.00
List what fund	RBI Fund		

## EXECUTIVE SUMMARY

On July 1<sup>st</sup>, 2021 a notice to bidders was published in the IDOT Contractor's Bulletin and on the village website, soliciting bids for the "2021 Various Streets Resurfacing Project" with a bid opening on July 12<sup>th</sup>. The work shall consist of pavement removal, HMA surface removal, HMA pavement patching, leveling binder and HMA surface course, drainage structure adjustments, sidewalk/curb and gutter/driveway removal and replacement, pavement marking, driveway culvert removal and replacement, grading and shaping ditches and landscape restoration.

The village received seven (7) bid proposals by prospective bidders, all of which qualified for review. A bid tab sheet is attached for review.

The bids ranged from \$1,394,309.34 to \$1,586,541.90 with Arrow Road Construction Co. being the lowest bidder. The village had budgeted \$1,810,500.00 for this fiscal year's resurfacing project.

## RECOMMENDATION

Staff recommends awarding the contract to Arrow Road Construction Co. for the "2021 Various Streets Resurfacing Project".

## ATTACHMENTS (PLEASE LIST)

Memo  
Bid Tab  
Resolution  
Agreement

## ACTION REQUESTED

For Discussion Only

- ✓ Resolution
- Ordinance

✓ Motion: MOVE TO APPROVE RESOLUTION # 2021-\_\_\_-R, A RESOLUTION APPROVING OF THE VILLAGE OF BARTLETT'S 2021 VARIOUS STREETS RESURFACING PROJECT AGREEMENT BETWEEN THE VILLAGE OF BARTLETT AND ARROW ROAD CONSTRUCTION CO.

Staff: Nick Talarico, Civil Engineer

Date: 7/12/2021

# MEMORANDUM

---

---

To: Paula Schumacher, Village Administrator  
From: Dan Dinges, Director of Public Works  
Subject: 2021 Various Streets Resurfacing Project  
Date: July 12<sup>th</sup>, 2021

---

---

On July 1<sup>st</sup>, 2021 a notice to bidders was published in the IDOT Contractor's Bulletin and on the village website, soliciting bids for the "2021 Various Streets Resurfacing Project" with a bid opening on July 12<sup>th</sup>. The work shall consist of pavement removal, HMA surface removal, HMA pavement patching, leveling binder and HMA surface course, drainage structure adjustments, sidewalk/curb and gutter/driveway removal and replacement, pavement marking, driveway culvert removal and replacement, grading and shaping ditches and landscape restoration.

The village received seven (7) bid proposals by prospective bidders, all of which qualified for review. A bid tab sheet is attached for review.

The bids ranged from \$1,394,309.34 to \$1,586,541.90 with Arrow Road Construction Co. being the lowest bidder. The village had budgeted \$1,810,500.00 for this fiscal year's resurfacing project.

## **RECOMMENDATION**

Staff recommends awarding the contract to Arrow Road Construction Co. for the "2021 Various Streets Resurfacing Project".

**MOTION: MOVE TO APPROVE RESOLUTION # 2021-\_\_\_\_-R, A RESOLUTION APPROVING OF THE VILLAGE OF BARTLETT'S 2021 VARIOUS STREETS RESURFACING PROJECT AGREEMENT BETWEEN THE VILLAGE OF BARTLETT AND ARROW ROAD CONSTRUCTION CO.**

**2021 Various Streets Resurfacing Project**  
**BID TABULATION**  
 July 12, 2021



Item No.	Items	Unit	Quantity	Arrow Road Construction Co. 1445 Oakton St. Elk Grove Village, IL 60007		J.A. Johnson Paving Co. 1025 E. Addison Court Arlington Heights, IL 60005		Plote Construction, Inc. 1100 Brandt Dr. Hoffman Estates, IL 60192		Schroeder Asphalt Services, Inc. P.O. Box 831 Huntley, IL 60142		Brothers Asphalt Paving, Inc. 315 S. Stewart Ave. Addison, IL 60101	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Pavement Removal	SY	200	\$7.75	\$1,550.00	\$12.00	\$2,400.00	\$20.00	\$4,000.00	\$9.00	\$1,800.00	\$15.00	\$3,000.00
2	HMA Surface Removal, 2"	SY	64021	\$1.00	\$64,021.00	\$1.90	\$121,639.90	\$2.10	\$134,444.10	\$2.10	\$134,444.10	\$2.06	\$131,883.26
3	HMA Pavement Patch, 3"	SY	1883	\$10.00	\$18,830.00	\$23.00	\$43,309.00	\$19.00	\$35,777.00	\$19.00	\$35,777.00	\$20.00	\$37,660.00
4	Bituminous Materials - Tack Coat	LBS	43214	\$0.77	\$33,274.78	\$0.01	\$432.14	\$0.01	\$432.14	\$0.01	\$432.14	\$0.01	\$432.14
5	Poly Level Binder (MM) IL-4.75 N50, 3/4"	TON	2688	\$85.55	\$229,958.40	\$80.00	\$215,040.00	\$90.00	\$241,920.00	\$85.00	\$228,480.00	\$95.00	\$255,360.00
6	HMA SC Mix "D" N50, 1-1/2"	TON	5378	\$82.60	\$444,222.80	\$72.50	\$389,905.00	\$72.00	\$387,216.00	\$73.50	\$395,283.00	\$72.00	\$387,216.00
7	Comb CC&G Rem & Rep M-3.12	FT	9843	\$22.50	\$221,467.50	\$24.00	\$236,232.00	\$24.00	\$236,232.00	\$28.35	\$279,049.05	\$26.00	\$255,918.00
8	Comb CC&G Rem & Rep M-6.12	FT	1739	\$22.50	\$39,127.50	\$24.00	\$41,736.00	\$25.00	\$43,475.00	\$28.35	\$49,300.65	\$26.00	\$45,214.00
9	Comb CC&G Rem & Rep B-6.18	FT	152	\$28.00	\$4,256.00	\$32.00	\$4,864.00	\$29.00	\$4,408.00	\$31.50	\$4,788.00	\$31.20	\$4,742.40
10	HMA Sidewalk Removal	SF	1592	\$1.50	\$2,388.00	\$1.50	\$2,388.00	\$0.90	\$1,432.80	\$0.80	\$1,273.60	\$1.50	\$2,388.00
11	Subbase Gran. Matl. Type B, 4"	SY	566	\$5.00	\$2,830.00	\$5.00	\$2,830.00	\$5.00	\$2,830.00	\$3.15	\$1,782.90	\$5.00	\$2,830.00
12	PCC Sidewalk Removal	SF	23522	\$1.00	\$23,522.00	\$1.25	\$29,402.50	\$1.10	\$25,874.20	\$1.05	\$24,698.10	\$1.04	\$24,482.88
13	PCC Sidewalk 5-Inch	SF	19840	\$5.75	\$114,080.00	\$6.00	\$119,040.00	\$6.00	\$119,040.00	\$5.90	\$117,056.00	\$6.08	\$120,627.20
14	PCC Sidewalk 6-Inch	SF	3608	\$5.75	\$20,746.00	\$6.00	\$21,648.00	\$6.50	\$23,452.00	\$6.10	\$22,008.80	\$6.24	\$22,513.92
15	Detectable Warnings	SF	880	\$19.00	\$16,720.00	\$19.00	\$16,720.00	\$22.00	\$19,360.00	\$27.00	\$23,760.00	\$21.84	\$19,219.20
16	PCC Driveway Rem & Rep, 6"	SY	297	\$60.00	\$17,820.00	\$60.00	\$17,820.00	\$65.00	\$19,305.00	\$65.25	\$19,379.25	\$56.16	\$16,679.52
17	HMA Driveway Rem & Rep, 2"	SY	687	\$34.85	\$23,941.95	\$32.00	\$21,984.00	\$35.00	\$24,045.00	\$19.00	\$13,053.00	\$30.00	\$20,610.00
18	Drainage Structure Adjustment	EA	72	\$365.00	\$26,280.00	\$365.00	\$26,280.00	\$325.00	\$23,400.00	\$390.00	\$28,080.00	\$379.60	\$27,331.20
19	Manholes to be Adjusted	EA	12	\$600.00	\$7,200.00	\$600.00	\$7,200.00	\$450.00	\$5,400.00	\$635.00	\$7,620.00	\$624.00	\$7,488.00
20	Pipe Culvert Removal	FT	370	\$3.50	\$1,295.00	\$3.50	\$1,295.00	\$6.00	\$2,220.00	\$3.70	\$1,369.00	\$3.64	\$1,346.80
21	Pipe Culverts Special, 12"	FT	375	\$49.00	\$18,375.00	\$49.00	\$18,375.00	\$70.00	\$26,250.00	\$52.00	\$19,500.00	\$50.96	\$19,110.00
22	Grading & Shaping Ditch, Spcl	SY	1800	\$11.90	\$21,420.00	\$10.50	\$18,900.00	\$18.00	\$32,400.00	\$8.00	\$14,400.00	\$13.00	\$23,400.00
23	Topsoil Furnish & Place, 4"	SY	3624	\$4.12	\$14,930.88	\$4.00	\$14,496.00	\$1.00	\$3,624.00	\$4.00	\$14,496.00	\$5.98	\$21,671.52
24	Topsoil Furnish & Place, 12"	SY	200	\$12.38	\$2,476.00	\$12.00	\$2,400.00	\$18.00	\$3,600.00	\$18.00	\$3,600.00	\$18.72	\$3,744.00
25	Seed and Blanket	SY	3824	\$4.27	\$16,328.48	\$5.50	\$21,032.00	\$1.00	\$3,824.00	\$4.00	\$15,296.00	\$1.82	\$6,959.68
26	Supplemental Watering	Unit	45	\$0.01	\$0.45	\$10.00	\$450.00	\$5.00	\$225.00	\$60.00	\$2,700.00	\$104.00	\$4,680.00
27	Temporary Pavement Marking	FT	170	\$2.00	\$340.00	\$0.10	\$17.00	\$1.00	\$170.00	\$2.50	\$425.00	\$5.00	\$850.00
28	Thermoplastic Line	FT	1916	\$1.10	\$2,107.60	\$1.10	\$2,107.60	\$1.00	\$1,916.00	\$1.10	\$2,107.60	\$1.04	\$1,992.64
29	Thermoplastic Line	FT	1027	\$2.00	\$2,054.00	\$2.00	\$2,054.00	\$1.25	\$1,283.75	\$1.40	\$1,437.80	\$1.30	\$1,335.10
30	Thermoplastic Line	FT	100	\$2.25	\$225.00	\$2.25	\$225.00	\$2.00	\$200.00	\$2.20	\$220.00	\$2.08	\$208.00
31	Thermoplastic Line	FT	450	\$2.50	\$1,125.00	\$2.50	\$1,125.00	\$3.00	\$1,350.00	\$3.25	\$1,462.50	\$3.12	\$1,404.00
32	Thermoplastic Line	FT	240	\$5.00	\$1,200.00	\$5.00	\$1,200.00	\$6.60	\$1,584.00	\$7.10	\$1,704.00	\$6.86	\$1,646.40
33	Construction Information Sign	EA	14	\$14.00	\$196.00	\$175.00	\$2,450.00	\$175.00	\$2,450.00	\$315.00	\$4,410.00	\$218.40	\$3,057.60
	AS READ TOTAL			\$1,394,309.34		\$1,406,997.14		\$1,433,139.99		\$1,471,193.49		\$1,476,981.46	
	<b>TOTAL</b>			<b>\$1,394,309.34</b>		<b>\$1,406,997.14</b>		<b>\$1,433,139.99</b>		<b>\$1,471,193.49</b>		<b>\$1,476,981.46</b>	

**2021 Various Streets Resurfacing Project**

**BID TABULATION**

July 12, 2021



Item No.	Items	Unit	Quantity	Unit Price	Total	Unit Price	Total
1	Pavement Removal	SY	200	\$10.00	\$2,000.00	\$15.00	\$3,000.00
2	HMA Surface Removal, 2"	SY	64021	\$2.40	\$153,650.40	\$2.35	\$150,449.35
3	HMA Pavement Patch, 3"	SY	1883	\$25.00	\$47,075.00	\$28.00	\$52,724.00
4	Bituminous Materials - Tack Coat	LBS	43214	\$0.01	\$432.14	\$0.01	\$432.14
5	Poly Level Binder (MM) IL-4.75 N50, 3/4"	TON	2688	\$97.00	\$260,736.00	\$99.65	\$267,859.20
6	HMA SC Mix "D" N50, 1-1/2"	TON	5378	\$77.00	\$414,106.00	\$78.15	\$420,290.70
7	Comb CC&G Rem & Rep M-3.12	FT	9843	\$27.00	\$265,761.00	\$28.25	\$278,064.75
8	Comb CC&G Rem & Rep M-6.12	FT	1739	\$27.00	\$46,953.00	\$28.25	\$49,126.75
9	Comb CC&G Rem & Rep B-6.18	FT	152	\$32.00	\$4,864.00	\$41.25	\$6,270.00
10	HMA Sidewalk Removal	SF	1592	\$1.50	\$2,388.00	\$1.05	\$1,671.60
11	Subbase Gran. Matl. Type B, 4"	SY	566	\$4.00	\$2,264.00	\$2.20	\$1,245.20
12	PCC Sidewalk Removal	SF	23522	\$1.10	\$25,874.20	\$1.05	\$24,698.10
13	PCC Sidewalk 5-Inch	SF	19840	\$5.85	\$116,064.00	\$6.45	\$127,968.00
14	PCC Sidewalk 6-Inch	SF	3608	\$6.00	\$21,648.00	\$6.45	\$23,271.60
15	Detectable Warnings	SF	880	\$28.00	\$24,640.00	\$26.00	\$22,880.00
16	PCC Driveway Rem & Rep, 6"	SY	297	\$65.00	\$19,305.00	\$72.25	\$21,458.25
17	HMA Driveway Rem & Rep, 2"	SY	687	\$30.15	\$20,713.05	\$25.00	\$17,175.00
18	Drainage Structure Adjustment	EA	72	\$400.00	\$28,800.00	\$400.00	\$28,800.00
19	Manholes to be Adjusted	EA	12	\$600.00	\$7,200.00	\$400.00	\$4,800.00
20	Pipe Culvert Removal	FT	370	\$13.00	\$4,810.00	\$10.00	\$3,700.00
21	Pipe Culverts Special, 12"	FT	375	\$59.00	\$22,125.00	\$73.00	\$27,375.00
22	Grading & Shaping Ditch, Spcl	SY	1800	\$10.00	\$18,000.00	\$7.06	\$12,708.00
23	Topsoil Furnish & Place, 4"	SY	3624	\$4.00	\$14,496.00	\$1.00	\$3,624.00
24	Topsoil Furnish & Place, 12"	SY	200	\$12.00	\$2,400.00	\$2.00	\$400.00
25	Seed and Blanket	SY	3824	\$6.00	\$22,944.00	\$7.00	\$26,768.00
26	Supplemental Watering	Unit	45	\$45.00	\$2,025.00	\$10.00	\$450.00
27	Temporary Pavement Marking	FT	170	\$5.00	\$850.00	\$1.00	\$170.00
28	Thermoplastic Line	FT	1916	\$1.00	\$1,916.00	\$1.10	\$2,107.60
29	Thermoplastic Line	FT	1027	\$1.25	\$1,283.75	\$1.38	\$1,417.26
30	Thermoplastic Line	FT	100	\$2.00	\$200.00	\$2.20	\$220.00
31	Thermoplastic Line	FT	450	\$3.00	\$1,350.00	\$3.30	\$1,485.00
32	Thermoplastic Line	FT	240	\$6.60	\$1,584.00	\$7.26	\$1,742.40
33	Construction Information Sign	EA	14	\$210.00	\$2,940.00	\$150.00	\$2,100.00
	AS READ TOTAL			\$1,561,397.54		\$1,587,423.90	
	<b>TOTAL</b>			<b>\$1,561,397.54</b>		<b>\$1,586,451.90</b>	

Geneva Construction Co.  
P.O. Box 988  
Aurora, IL 60507

A Lamp Concrete Contractors, Inc.  
1900 Wright Blvd.  
Schaumburg, IL 60193

**RESOLUTION 2021 - \_\_\_\_\_**

**A RESOLUTION APPROVING OF THE VILLAGE OF BARTLETT'S 2021 VARIOUS  
STREETS RESURFACING PROJECT AGREEMENT BETWEEN THE VILLAGE OF  
BARTLETT AND ARROW ROAD CONSTRUCTION CO.**

---

**BE IT RESOLVED** by the President and Board of Trustees of the Village of Bartlett, Cook, DuPage and Kane Counties, Illinois, as follows:

**SECTION ONE:**                    2021 Various Streets Resurfacing Project Agreement dated July 20, 2021, between the Village of Bartlett and Gerardi Sewer and Water Co. (the "Agreement"), a copy of which is appended hereto and expressly incorporated herein by this reference, is hereby approved.

**SECTION TWO:**                    That the Village President and the Village Clerk are hereby authorized and directed to sign and attest, respectively, the Agreement on behalf of the Village of Bartlett.

**SECTION THREE:**                **SEVERABILITY.** The various provisions of this Resolution are to be considered as severable, and of any part or portion of this Resolution shall be held invalid by any Court of competent jurisdiction, such decision shall not affect the validity of the remaining provisions of this Resolution.

**SECTION FOUR:**                **REPEAL OF PRIOR RESOLUTIONS.** All prior Ordinances and Resolutions in conflict or inconsistent herewith are hereby expressly repealed only to the extent of such conflict or inconsistency.

**SECTION FIVE:**                **EFFECTIVE DATE.** This Resolution shall be in full force and effect upon passage and approval.

ROLL CALL VOTE:

AYES:

NAYS:

ABSENT:

PASSED: July 20, 2021

APPROVED: July 20, 2021

\_\_\_\_\_  
Kevin Wallace, Village President

ATTEST:

\_\_\_\_\_  
Lorna Giles, Village Clerk

#### CERTIFICATION

I, the undersigned, do hereby certify that I am the Village Clerk of the Village of Bartlett, Cook, DuPage and Kane Counties, Illinois, and that the foregoing is a true, complete and exact copy of Resolution 2021 - \_\_\_\_\_ enacted on July 20, 2021, and approved on July 20, 2021, as the same appears from the official records of the Village of Bartlett.

\_\_\_\_\_  
Lorna Giles, Village Clerk



Contractor's Name

Arrow Road Construction Co.

Contractor's Address

1445 Oakton Street

City

Elk Grove Village

State

IL

Zip Code

60007

STATE OF ILLINOIS

Local Public Agency

Village of Bartlett

County

DuPage

Section Number

21-00093-00-RS

Street Name/Road Name

2021 Various Streets

Type of Funds

RBI

CONTRACT BOND (when required)

**For a County and Road District Project**

Submitted/Approved

Highway Commissioner Signature

Date

--	--

Submitted/Approved

County Engineer/Superintendent of Highways

Date

--	--

**For a Municipal Project**

Submitted/Approved/Passed

Signature

Date

--	--

Official Title

--

**Department of Transportation**

Concurrence in approval of award

Regional Engineer Signature

Date

--	--

